
3.
∫

1
cos4 x

dx ( viz příklad 8.19 a) )

R(u, v) =
1
v4 ,

R(−u, v) =
1
v4 6= −R(u, v),

R(u,−v) =
1

(−v)4 6= −R(u, v),

R(−u,−v) =
1

(−v)4 = R(u, v)

z jednodušších substitucí lze použít jen substituci t = tg x



Musí platit cos x 6= 0, tj. x ∈ (−π2 + kπ, π2 + kπ) = Ik , k ∈ Z.

∫
1

cos4 x
dx =

∫
1

cos2 x
· 1

cos2 x
dx =

∣∣∣∣∣∣
tg x = t

1
cos2 x

dx = dt

∣∣∣∣∣∣ =

=

∫
1
1

1 + t2

dt =

∫
(1 + t2) dt =

= t +
t3

3
+ c = tg x +

tg 3x
3

+ c

na (−π2 + kπ, π2 + kπ); k ∈ Z



Musí platit cos x 6= 0, tj. x ∈ (−π2 + kπ, π2 + kπ) = Ik , k ∈ Z.

∫
1

cos4 x
dx =

∣∣∣∣∣∣∣
tg x = t

x = arctg t + kπ − prostá
dx = 1

t2+1 dt

∣∣∣∣∣∣∣ =

=

∫
1(
1

1+t2

)2 ·
1

t2 + 1
dt =

∫
(1 + t2) dt =

= t +
t3

3
+ c = tg x +

tg 3x
3

+ c

na (−π2 + kπ, π2 + kπ); k ∈ Z


